E2LAE] HAS I} A MIAT} Ol AR SR AHQIY|A O

HA 21K 70/ A
=5 4Y/HIE o[0ix|

for electrics

BN @
¢ | B

_OBU—_e

© HEINRICH KIPP WERK GmbH & Co. KG

ks

HE My
QI ZHKE= HX 8o 2 QlsH &S IxI7H Hats 22 WxIshol
ste 2ol ASELICH MM EEE 2522 Ho{okgt 2

2 0lSE 4 YBLICt

AE) MA7E Qi QA ERix{0lA TS AHEIE MAIHO R 014l5t0d
St o)

A& Melg & U&LICH

THE:
AR T
LIAL B2 L &3 El, }HarZ,

AHIQIEIA AR HZA:

LIAF £ 25 1.4305.

= El 383t 1.4034.

&2 E, FstElX| &8 S 1.4305.

HAE O8], Ertad =Xl

EM OlF2]:

2B HT:

LIAF &2, A &5t %2

23 E, Est Aal, Aok X AY & RE2]

AHQIE|A AR HE:
LIAb 22|12, FEE %2

HH.:
0iE £0{ 7|A Ao A|lAEITto| dZ2 SEE MACe ¢4 70|22
&3l O|Fo{&LICt

0
pul
rx
x
rr
»
3

3

|>
[m
Hu
L
2
A
O
o
2
|>
do
Rall
N
i
A
r
o

71= 40| E:

S MAM:

1 2|2: PNP HAM7|(NO)
12 6-30V DC

13 <100 mA

= 72t 1 mm

A QE F7]: <4000 Hz
CHef X US
UIMES: QS

_|I'U

[> 120 12 iy
oin oin
A

do
Y.

B3 55:IP67
14 8&H: 2mPVC A 0|E

www.kipp.com - info@kipp.com 1/4



o
= = —_ =0
E2IAE HAE gl &Ef UMY} U= 28 2 2H|21 2 21
— =
A SEiIA, A0|= HE
E5 MY/HIE o|0|X|
2F #Hel:-10° C ~ +70°C
&¢Ql: CE, c-UL-u, EAC
0|8
SEf MA7E IE QElA EHXE ZHE0| [HE SHE MoiE = A&
Lich =3t &3 Elo| Y5ts 2E HEfol /iCte XHe E8E £+ el
Ct
Al
S MA .
okX:
AEf MAT7E Qs QIElA Z3K{E= Q1M ot 7|50l MEtEtx| ehaL
Ct

EH M.

EHel A B2 &% 818, 7H2E LE 98
EfelB: &2 &% 92, 7128 LE U
EtelC: &2 &% 98, 7o 1= 9l
EtelD: &2 2R US, 7H2E LE US

P=70|& Zo|

BN =Z
BK = A&
BU = &M

[=4)
® g © D2
, —~r |
| [ 1 A [ 1
| |
1 | Sl 1 |
N | o N o
= L[] D3 Sw2 1 = D3
slal || slel |
1 ] Y |
| o | / T | 1)
L qooll’ ) b pooe| ]’ A
D504 5 D5 He
| D1 D1
== g9
olEiA ZEIK, AR = AH[QI|A AR AE| MA U, HOIE A2 AEl
FEHE B =X AME F=ZE D D1 D2D3 L L1L2L3 AEE3 SW1 SW2 Fx30° P NS Bt
S Bt 2
F12% N F29. N
K1744.11051 A AE 2t 5 M10x1 25245117 7 15 5 13 - 1,3 2000 5 12
K1744.12061 A AE st 6 M12x1,5 25245620 8 17 6 14 - 1,8 2000 6 14
K1744.13081 A N Zs 8 M16x1,5 332474261023 8 19 - 23 2000 15 35

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



°
== = L =
S2tAE HASE Jglut Ml MA T} = A8 =2 AH|QlA 9
i =i
eiA S8X, #Hlo|= HA
Z=Qot
FEWs H Bz HA=ZE D D1 D2D3 L L1L2L3 AEZE3 SW1 SW2 Fx30° P Al Erd
S EbN =
F1 2 N F22%. N
K1744.14101 A AE] 23t 10 M20x1,5 332480281225 10 22 - 2,8 2000 15 34
K1744.14121 A AE A3t 12 M20x1,5 33 2,4 84 28 14 25 12 22 - 2,8 2000 15 39
K1744.011051 A AEQEA A8 Zst 5 M10x1 25245117 7 15 5 13 - 1,3 2000 5 12
K1744.012061 A  AEQIEA ARl ZHst 6 M12x1,5 252,45620 8 17 6 14 - 1,8 2000 6 14
K1744.013081 A 2AEQIEA AEl  ZH3} 8 M16x1,5 33 2,4 7426 10 23 8 19 - 23 2000 15 35
K1744.014101 A AEQIBA A ZH3 10 M20x1,5 332480281225 10 22 - 2,8 2000 15 34
K1744.014121 A AEQIBA AEl  ZHS 12 M20x1,5 332484281425 12 22 - 2,8 2000 15 39
K1744.111051 A  AH[QlEA AR H[FEE 5 M10x1 25245117 7 15 5 13 - 1,3 2000 5 12
K1744.112061 A  AH[QlEA AR H[ZS 6 M12x1,5 25 2,45620 8 17 6 14 - 1,8 2000 6 14
K1744.113081 A AEQHA AEl H|Z3 8 M16x1,5 33 2,4 74 26 10 23 8 19 - 23 2000 15 35
K1744.114101 A  AEQIBA A8 H|Z3 10 M20x1,5 33 2,480281225 10 22 - 2,8 2000 15 34
K1744.114121 A  AH]QIBA A8 H|ZS 12 M20x1,5 33 2,484281425 12 22 - 2,8 2000 15 39
K1744.21051 B AEl Zst 5 M10x1 25245117 7 15 5 13 17 1,3 2000 5 12
K1744.22061 B AE A3t 6 M12x1,5 252,45620 8 17 6 14 19 1,8 2000 6 14
K1744.23081 B AE Zs 8 M16x1,5 33 2,4 7426 10 23 8 19 24 23 2000 15 35
K1744.24101 B AE Zs 10 M20x1,5 332480281225 10 22 30 2,8 2000 15 34
K1744.24121 B AEl A3t 12 M20x1,5 33 2,4 84 28 14 25 12 22 30 2,8 2000 15 39
K1744.021051 B AEQEA A8 ZFst 5 M10x1 25245117 7 15 5 13 17 1,3 2000 5 12
K1744.022061 B  AEQIEA ARl ZHst 6 M12x1,5 252,45620 8 17 6 14 19 1,8 2000 6 14
K1744.023081 B  AH[QlEA AR ZHst 8 M16x1,5 33 2,4 7426 10 23 8 19 24 2,3 2000 15 35
K1744.024101 B  AEQIBA Al ZH3 10 M20x1,5 332480281225 10 22 30 28 2000 15 34
K1744.024121 B  AEQBA AEl  ZS 12 M20x1,5 332484281425 12 22 30 2,8 2000 15 39
K1744.121051 B 2AHQlEA A8 HIZE 5 M10x1 25245117 7 15 5 13 17 1,3 2000 5 12
K1744.122061 B  AH[QlEA AR H[FES 6 M12x1,5 252,45620 8 17 6 14 19 1,8 2000 6 14
K1744.123081 B  AEQIEA AEl H[ZES 8 M16x1,5 33 2,4 74 26 10 23 8 19 24 23 2000 15 35
K1744.124101 B  AE|Ql@a A&l  H|ZAS 10 M20x1,5 33 2,4 80 28 12 25 10 22 30 2,8 2000 15 34
K1744.124121 B  AEIQEA A8 H|ZS 12 M20x1,5 33 2,484281425 12 22 30 28 2000 15 39
K1744.31051 C AE] Zst 5 M10x1 25245117 7 15 5 13 - 1,3 2000 5 12
K1744.32061 C AEl st 6 M12x1,5 252,45620 8 17 6 14 - 1,8 2000 6 14
K1744.33081 C AE] Zs 8 M16x1,5 33 2,4 7426 10 23 8 19 - 23 2000 15 35
K1744.34101 C AE 43t 10 M20x1,5 33 2,4 8028 12 25 10 22 - 2,8 2000 15 34
K1744.34121 C AE A8 12 M20x1,5 332484281425 12 22 - 2,8 2000 15 39
K1744.031051 C 2EQBA A8 ZFs 5 M10x1 25245117 7 15 5 13 - 1,3 2000 5 12
K1744.032061 C 2EQEA AE  ZH3} 6 M12x1,5 252,45620 8 17 6 14 - 1,8 2000 6 14
K1744.033081 C AH[QlEA AR ZHst 8 M16x1,5 33 2,4 7426 10 23 8 19 - 23 2000 15 35
K1744.034101 C AEQ3A AE  ZH3 10 M20x1,5 332480281225 10 22 - 2,8 2000 15 34
K1744.034121 C AH[QlEA AR A3t 12 M20x1,5 33 2,484281425 12 22 - 2,8 2000 15 39
K1744.132061 C  AH[QlEA AR H[ZES 6 M12x1,5 25 2,45620 8 17 6 14 - 1,8 2000 6 14
K1744.131051 C  AHIQIBA AR HIZS 5 MI10x1 25245117 7 15 5 13 - 1,3 2000 5 12
K1744.133081 C  AHQlEA AR H[ZE 8 M16x1,5 33 2,4 7426 10 23 8 19 - 23 2000 15 35
K1744.134101 C AEQlBA A8 H|ZS 10 M20x1,5 33 2,480281225 10 22 - 2,8 2000 15 34
K1744.134121 C  2EQIEA A8 H|ZS 12 M20x1,5 33 2,484281425 12 22 - 2,8 2000 15 39
K1744.41051 D AE Zs 5 M10x1 25245117 7 15 5 13 17 1,3 2000 5 12
K1744.42061 D AE A8t 6 M12x1,5 25245620 8 17 6 14 19 1,8 2000 6 14
K1744.43081 D AE] 28t 8 M16x1,5 33 2,4 7426 10 23 8 19 24 23 2000 15 35
K1744.44101 D AE A3 10 M20x1,5 332480281225 10 22 30 2,8 2000 15 34
K1744.44121 D AE A8 12 M20x1,5 332484281425 12 22 30 28 2000 15 39
K1744.041051 D AEQEA AR ZFst 5 M10x1 25245117 7 15 5 13 17 1,3 2000 5 12
K1744.042061 D 2EQEA AEl  ZH3 6 M12x1,5 252,45620 8 17 6 14 19 1,8 2000 6 14
K1744.043081 D AEQEA AR ZHst 8 M16x1,5 33 2,4 74261023 8 19 24 23 2000 15 35
K1744.044101 D 2AEQBA AEl  ZHS 10 M20x1,5 332480281225 10 22 30 28 2000 15 34
K1744.044121 D 2EQEA AEl  Z3} 12 M20x1,5 332484281425 12 22 30 2,8 2000 15 39
K1744.142061 D 2AEQ3A ALl H|ZAS 6 M12x1,5 25 2,45620 8 17 6 14 19 1,8 2000 6 14
K1744.141051 D AE|QEA AE H|ZS 5 M10x1 25245117 7 15 5 13 17 1,3 2000 5 12
K1744.143081 D AHQlEA AR H[ZES 8 M16x1,5 33 2,4 74 26 10 23 8 19 24 23 2000 15 35
K1744.144101 D AHQIBA AR HIZE 10 M20x1,5 33 2,480281225 10 22 30 28 2000 15 34
K1744.144121 D  AEIQIEA AEl  H|ZS 12 M20x1,5 33 2,484281425 12 22 30 2,8 2000 15 39
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



Kinn

E2LAE] HAS TR} AE MAT} Ol AR S AR Of
A ZEi, AO|E A
ES 9

rio

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



